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Page 212: Solution to Activity 3 part c in Chapter 9 

In the first line of the solution to part (c) the number $1.60 should be $1.64. There is no impact 
on the rest of the solution.  

 Page 406: Essential reading for Chapter 4: Illustration 3 - Forecasting 

Wages for June X2 should be 36,000 not 26,000.   

Page 534: Further question practice solution to question 13 

The correct answer should be 25% 

This is calculated as (2/98 x 365/30) x 100 = 24.9% so 25% to the nearest %. 

Page 587: Further question practice solution to question 57 

In the 4th line of the solution to part a(iv) 15,000 should be 25,000. The correct answer is still 
$208,333. 

 

 

 

 


